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1. (a) Find the Singular Points of the ODE:
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(b) Find the radius of convergence and interval of convergence for the power
series
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2 . Find the recurrence relation for the series solutions of the DE  »"+2x)p'+2y =0

about xp = 0.
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3.(a) Show that I,cos2x,sin2x form a fundamental set of solutions for the DE

" +4y =0. Also write the general solution of this equation.
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M If y, = —ie’“ is a particular solution of the DE y" +2)' -8y =2¢™*, and

¥, = ée"" is a particular solution of " +2)' —8y =—e™, obtain a solution

forthe DE y" +2)' —8y=-8e —~2¢™*. (Do not solve the equation)
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4. Use the method of undetermined coefficients to solve the DE
y" +4y =4cosx +3sinx -8
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§'. Use variation of parameters to solve y" +y =secx
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